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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the

average went up by 2 yr. Find the actual average
age of the class.
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Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions(1-5):
Read the passage and answer the questions that follow:

“My dear Mr. Sherlock Holmes,—You really did it very well. You took me in completely. Until after the alarm of fire, |
had not a suspicion. But then, when | found how | had betrayed myself, | began to think. | had been warned against
you months ago. | had been told that, if the King employed an agent, it would certainly be you. And your address had
been given me. Yet, with all this, you made me reveal what you wanted to know. Even after | became suspicious, |
found it hard to think evil of such a dear, kind old clergyman. But, you know, | have been trained as an actress myself.
Male costume is nothing new to me. | often take advantage of the freedom which it gives. | sent John, the coachman,
to watch you, ran upstairs, got into my walking clothes, as | call them, and came down just as you departed. Well, |
followed you to your door, and so made sure that | was really an object of interest to the celebrated Mr. Sherlock
Holmes. Then |, rather imprudently, wished you good-night, and started for the Temple to see my husband."

1) Whom is the note addressed to?

A) The husband
B) The king

ol Techofworld.In

2) Who is the writer of the note?

A) A woman

B) A murderer
C) A clergyman
D) An agent

3) Whom did the writer of the note reveal all the details to?

A) The king
B) Holmes
C) An agent
D) Coachman

4) Whom did the writer go to meet at the temple?

A) The coachman
B) The clergyman
C) The agent
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D) The husband

5) How did the writer know that it was Holmes?

A) By disguising

B) By hiding

C) By being informed
D) By reading

6) Fill in the blank with the correct option:

The police everyone about the traffic jam caused by the elephant but didn't do a thing
A) heard, herd

B) heard, heard

owsres T @chofworld.In

7) Which of the following alternatives explains the phrasal verb "luxuriate in something"?

A) to take great pleasure in something that is very pleasant and relaxing

B) to take great pleasure in something that is very unpleasant and serious
C) to take sadistic pleasure

D) to have no time for pleasure in life

8) Fill in the blank with correct prefix or suffix:

The engineer wanted his staff to be active to minimise the downtime of his equipment.

A) pro
B) super
C) anti
D) co

9) Which of the following words is correctly spelt?

A) confiskate

B) confiscate

C) confisticate
D) confiscet
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10) The phrase ‘lounge around” means

A) to spend your time doing a lot of work

B) to spend your life busy in doing nothing

C) being restless over a silly matter

D) to spend your time in a relaxed way doing very little
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Which of the following bacteria is a common example of bio-weapon for human health?

A) Bacillus subtilis

B) Pseudomonas putida
C) Bacillus anthracis

D) Bacillus thuringiensis

11) FARYE 191g g 6096 AIRe Ay A disal-aga 1@ ATRTR a0Iead 26e ?

A) 6edagq AQGaq
B) daseininiq 9Fe!

C) 60daq 21Igidq
D) 69daq goeaaq

12) The Sino-Indian war caused split in which of the following political party in the year 19647?

wenmmsravanaa | @CHOfWOrld. 1N

C) Jan Sangh
D) Socialist Party

12) Q6qi- Q1001 Q8 € ¢ oY AdLIEa FORFO AIRERER @ AUIQ 6auGen FaIRR Q8 af8aI?

A) NI6610 *QIA] R
B) ¥6g9a o

C) @%@ a@

D) aqmeiat @@

13) Commitment to structured, purposeful inquiry as the leading vehicle for learning' - is the core philosophy of -

A) ICSE curriculum
B) CBSE curriculum
C) IGCSE curriculum
D) IB curriculum
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13) Q°QCR! F768 GERS!, REQAYFRR NFER AQARR 6208 AT AR L ALMAO! - 121 6208 e Qde -

A) 21ed9q@ Al0Yea
B) 29vQa aioign
C) xR a0
D) 2I0Q AHLA

14) The recommendations of the Education Commission of 1882 led to the rapid increase in

A) English Colleges
B) High Schools

C) Primary Schools
D) Middle Schools

14) err9q dal 2icaia QAIREREN Ya6a @6 966a 9F AIRYM

v T@achofworld.In
B) @@ daueaqde -

C) glefie AMeagee

D) i §Queagee

15) The District Primary Education Programme (DPEP) was managed by?

A) Central Government
B) State Government
C) District Authorities
D) Village Panchayats

15) 83QQ gIREAQ1 1geQaq 69Igif| (DPEP) aie qial adeide ceadal ?
A) 692 209IQ

B) €I94 a69ia

C) oq @gaa

D) ga a°QI0e
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Section 3 - Paperl-Reasoning
No. of Questions: 5

16) Which of the following word CANNOT be formed by using the letters of the word SCIENTIST?

A) CENTRE
B) TEST

C) SENT

D) SIN

16) SCIENTIST 606 286095Q @ieei0 08 FIRYE a0 Awg cedd QIAIR AR AIZ 2

A) CENTRE
B) TEST

C) SENT

D) SIN

17) In a certain code language, if the word CHAIN is coded as 51031116, then how will the word TAKEN be coded in
that language?

A) 21311716 TeCh OfWO rld . l n

B) 22313716
C) 22311716
D) 21313716

17) <@ ada ceie aisica, 8 CHAIN @@ 8 eome e e.9 Qieea 67IC 62108, 6062 TAKEN @ef Q 6a8 aisica 808 ea1e, @9l 99 7

A) 9emee9Ry
B) 99menoes
C) 99mece9oey
D) 9enenoes

18) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement |l alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.
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If 2a = 2b - 3c, then what is the value of c?
lLb=a+2
Il.La=6

A) 1
B) 2
C)3
D)4

18) AARYC gqedesa 636 0aq :
¢. 96 QR4 | anaia ANQR caaIg A62a 26T |

9. 96 QRQE |l ¥gdr anAn ARQ 62Ig A6 26T |
q. 96 QA€ | 9e |l anag IRId F2IFe 6669 ANAIR AAA 626! I adug 26E |

¥. 96 QA4 | ve |l anaq 1eId Fude 660 & anayn AN 69al Al adiig g6¢ |

ad 9a = 9b - mC, 6669 C @ AR 6266 ?

Lb=a+9

" Techofworld.In

A) ¢
B) ?
(R
D) ¥

19) In an evening, Mahish and Mohan were talking to each other face to face in an open field. If Mahish's shadow was
exactly to the left of Mohan, then in which direction was Mohan facing?

A) East

B) West
C) North
D) South

19) Gen anuen AR1E I 6AIRR 1 cHIRI aGEIce DAIR ATE (LIGR 621N FAUAG c2aden | 98 AIas 2IAl caRes OR @N aiea AR, cose
60129 699 Gaq qeladien ?

A) 98
B) ada
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C) aaa
D) @8a

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement |l alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

Is the perimeter of triangle PQR greater than 20 units?

I. The length of the side QR is more than the length of the side PR by 10 units.

Il. The area of the triangle is 20 sq.units.

» Techofworld.In

B) 2
C)3
D) 4

20) FIRYC ggabesa 636 @aq :
¢. 26 QQQ€l | anaie ANQA caaIg Acaq 26T |

9. 96 QQQE |1 vgbr anaie YRR 629IQ D628 26T |
a. 26 Y6 | e Il anag ¥NId FUIGe 6069 ANAIR ANA 629 Alsl adug 26e |

¥. 26 Q8 | ve |l anng 1eId F2Ide 6060 @ anaye QAR 6oa! aiel adug ged |

gee PQR a adaiql 90 ghc Q ude @ ?

I. QR age an PR aiga an 01 o g&e ade 26T |
Il. Geea cagR 6208 90 @4 QR |

A) ®

B) ¢

c)®
D) ¥
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) According to Paulo Freire which type of interaction is favourable in classroom?
A) Monologic

B) Questioning

C) Dialogic

D) Inquiry

21) aiesql ZIRES 2QAIN 6441GR6R 629 JRIG QIR GO AGYR 62NN ?

A) EAIERIEAITS
B) g9 @aq!

C) e @3l
D) aiqasie Q@<

22) The flow of information from sender to receiver through a process is referred to as

weass T @chofworld.In

C) communication
D) transmission

22) 4@ g&al ARIAER 6g6@s 0IQ 9Igee IS adis gerl geleq QRIAN |

A) 60EQIERIT
B) 9o

C) saicieaia
D) ¥eqs

23) What do you mean by agencies of education?

A) A well established institute which propogates the process of education.

B) A group of government and private schools at each levels which involve in educational activities.
C) All those digital platforms which propogate the process of education.

D)

All those organizations or groups which propogate the process of education.
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23) 8916 QA FL6A 26F 98 GEE ?

A) 9@ 9gole 29aIR QI SRR gRAIg JOIQ 9AIR AR |
B) g664a 906Q 2ol AR B VEAIR FNINAR 9@ A2 6ANYER A QINIGAER AG aIB |
C) Qrg GaeIA Qead QI2l I8IQ 9RAIQ 9918 gAIR RAaIB |

D) Qag a*qoe GqI 69191 A2l VIR 9FAIQ 9OIa gAIR @23 |

24) Which of the following statements indicates the narrow meaning of education?

A) The student is made to understand that education is a life long process.

B) The student is deliberately‘taught to think’ as predetermined by the educators.

C) Educators believe that education has formative effect on the personality of an individual.

D) Educators dislike deliberate efforts to develop certain amount of knowledge, skills, attitudes and habits.

24) aqfe Auq 69de Asia werd 28g Q47 TeCh OfWO rI d . I N

A) 219 QEIQ 29 64 98I ¥R LRI gRA

B) daeaieeq ge ARIGe §IadI 6008 @ 818 4@ FIgE'NIRR 959’
C) deMI6r @qid @03 64 @13 TG AT6a 88l GORRR YIS ARIRAIN

E
D) @

Q9 9GQI6Q BIR, 6FIER, ACRINIR I ZAIA R4 AR AFRAIEH ARAR! 9AIAQ FITAR @S

25) Which of the following is a large repository of digitised educational content in the country, and also the National
Coordinator for Massive Open Online Courses (MOOCs) for SWAY AM platform of MHRD and also for SWAYAM Prabha
DTH channels offering a bouquet of 11 educational channels in various disciplines?

A) Edukart

B) Byju

C) National Knowledge Commission

D) The Consortium for Educational Communication

25) aodge auQ 6edt coasn Gocier calRliel daIe SE09g 1@ 926 aaIR, IQ° IF YQ AIQ @ @ SWAYAM Qe a e 6ae

ALRNIRR 621649 (MOOCs)R FI10 A°6AISR 99° SWAYAM gell & § 9Q 04isen 38R SI96a Q98 © 05 JTITe SHIERR Q KIS1A
Q°6ARD 26T ?

A) ¥geid

B) S

C) 6240I1R 26R] QA8

D) @ @a6Qi526 Iq 1geRdfin Q¢IR6adR

26) Match the following types of attention with their descriptions.
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1 Sustained Attention,
2 Executive Attention,
3 Divided Attention,

4 Selective Attention

a. Focussing on a specific aspect of experience,
b. concentrating on more than one activity at the same time,
c. attention paid over a period of time,

d. action planning for attention.

A) 1c, 2d, 3b, 4a
B) 1b, 2¢, 3a, 4d
C) 1a, 2b, 3c, 4d
D) 1d, 2a, 3d, 4c

26) Ggea SrIRER UIRQ gRING AN R4l ATE 679 Fag |

= Techofworld.In
|}

9. QUGN IR,

0. GO AR,

Y. A6RING U

Q. 26800 9Q A9 34 QUER AR 694,

. 9@ AAY6Q 9QQ Uy QIIIERNA RUEA IR 624,

. 99 ana adys e Gl AR,

A, AR aIef QIdY 6P

A) 1c, 2d, 3b, 4a
B) 1b, 2c, 3a, 4d
C) 1a, 2b, 3c, 4d
D) 1d, 2a, 3d, 4c

27) A teacher wants to teach a concept of science through learner centered technique. Which of the following could by
the most appropriate techniques?

A) Audio learning through lecture based instruction
B) Discovery learning through inquiry based practicals

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

C) Visual learning through self learning notes
D) Programmed instruction learning through teaching machines

27) e6a uiae daiEh 6380 968 AN FRINA 1@ o2y ddeaiq QLIS | F9RAYe M 6R6E A0 YUY aad caIraIde ?

A) eq0l B8R Geda Arnea 266 dal

B) zgasie G@Q g Arinsa zidaIe dal
C) UIQaal ARINEA QaUQQ Jal
D) 9199 6A3Q AINEA gRE Fesarinl dal

28) The originator of technology based learning through the concepts of Programmed Learning developed in Harvard is

A) Punya Mishra
B) Jean Piaget
C) Jerome Bruner
D) B F Skinner

28) 2i6ideq 386 69Ig1Na Adaa IR ARINER 666RIERIT URIGE IR YRR 62088

o Techofworld.In

C) 696010 g9
D) @ 4T 499

29) Read the following statements and choose the CORRECT option.
(i) The formal kind of education can be scientifically and consistently provided to a large number of children
simultaneously.

(i) A new concept of distance education known as m-learning is a mode of formal education.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (ii) is TRUE
D) (i) is FALSE and (ii) is FALSE

29) G618 QRQd @] 09 e O] 9aa 0Ae @ag!
() BB geIea 89 GRIF ARG I9° FAsA NIGEA IARIRIR ¢ e dgq 99 QAAIRAIRS|

(il) 9-RE° NINER FEIGAI 98 FAIR YR §OR ARG AASER SR IR AQ |
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A) (i) QoY 260 9Q° (ii) QY 269
B) (i) Qo4 2166 99 (i) 290y 266
C) (i) 2acy 269 9a° (i) 904 26E
D) (i) 21904 269 98" (i) 2AY 26T

30) What among the following types of memory help an individual to recall something immediately after it is perceived?

A) Permanent memory
B) Sensory memory
C) Mature memory

D) Long term memory

30) GeqIe ArIQ 624 gRIRa 98 966 IS A8 ALNS 6291 U6R QA8 ACRAYRIER AIRITY REQ ?

vex Tachofworld.In

C) 98aq g@
D) @ideie 98
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Section 5 - Paperll-Odia Language

No. of Questio

31) 6Q0Q 69 QTR 6 9¥?

A) Qg Q6 AAIR

B) a"qe0ig gdgea 2aql
C) 2ag°6Q @Qa

D) arqeq @ge

32) qaiaviQie Q0Qs g §967 604 dIQ 90 ?

A) 2uQ
B) @A g
C) QuR
D) @ &g

33) 28l 696a GO 676 AR IS ?

»» Techofworld.In

C)¥
D) g

34) ‘Gater’ eeq YAQIGIdcee a0 QI8 |

A) @mde
B) &de
C) uge
D) aqlee

35) &0 aa @aQ 00 62IRaIN?

A) dIg+gND
B) ae+goua
C) @aQd+Ig+geia
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D) ae+ae

36) F6CI8 FAUIQ 680G IR QO UGS 4R §6€7?

A) @
B) ¢
C)a
D)e¢

37) ‘aces’ zdeq ‘af’ govd QeI 4e5 QI8 ?

A) 239
B) 3@
C) aage
D) ude

38) ‘@0 629l 2eig Q48 Q2R 9F 7904 @a

v 1 echofworld.In

C) e afal
D) ae 2AGA

39) ‘agenl eeql’ 9Fa ad Fqad ea |

A) 9% eGe

B) qalzaea 2aQl
C) G648 gaIediat
D) 264@ 6314e 624!

40) FORYS ARIQ 6345 IR FIT AIeR F6aaY ?

A) Qg
B) aa
C) aig
D) qiaqy
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41) ‘arige’ eea YUQIGIdeII 60 QI8 |

A) Qae
B) a1de
C) s3ada
D) aniee

42) R69I9 AIQ 69LF ¥R 6AINNQR §97?

A) aqe
B) quig
C) ety
D) acae

43) ane 226a ‘OR’ 9eYags 998 Qg |

v« Techofworld.In

C) sued
D) cIa@

44) 2Q 9o 696@ — Q0I6Q 6969 @ JRIQ FUIAQ?

A) 6d15@ GaiaQ
B) aGead Galae
C) g1 393

D) wee 2109

45) ‘aeqiae’ 40 A6 9 QI8 |

A) @d
B) a1
C) 7@
D) e
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) If 3 subtracted from twice of a number is equal to 6 subtracted from five times the number, then the number is equal
to

A) 0
B) 1
C)2
D)3

46) a8 61T TR QRYEQ N eaa RNl 06a, 63T THY CIRIA APe gEQ  §6aIa EAIFN! a2 QNI 24, 6069 6QAT Twud 2| ae anik 629

A) 0
B) 1
C)2
D)3

47) ABCD is a cyclic quadrilateral drawn inside a circle with centre O. The sides AD and BC are on either side of the
center O. If ZABD = 40°, then ZACD =

»« Techofworld.In

C) 80°
D) 140°

47) ABCD 6ed 1@ o@ed1 0gge a0l O seg 8o QRa 2rde seie@ 1 AD 6 BC, O seg 891 9@e 6a 6316d 60151 aKjea 028 1 2 2ABD = 40°
24, 60692ACD =

A) 40°
B) 50°
C) 80°
D) 140°

48) What is the measure of the longest scale that can accurately measure 4 sides of the field of lengths 1,980m, 1,620m,
1,800m and 2,610m ?

A) 180 m

B) 120 m

C)90m

D) 30 m
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48) aqoiq @1den eane aig @’'a arwl 1,980 deq, 1,620 dee, 1,800 fca 9o 2,610 fce 634043a8 68e0 4 QI A0 N6 AIQ @GAIGS ?

A) 180 dea
B) 120 éea
C) 90 dea
D) 30 dea

49) What is the simple interest earned on ¥ 4,000 invested for 3 years at a rate of interest of 5%?

A) % 400
B) % 600
C) % 700
D) 2 800

49) 5% qu 2106a 3 od aidi T 4,000 33601 621Q86R 921 QAR AGR Y 6966 629 ?

v Tachofworld.In

C) 700
D) % 800

50) If the system of linear equations ax + by = ¢ and dx + ey = f (where a, b, c, d, e and f are constants) has unique
solution, then

A) ae # bd
B) ad # be
C) ae = bd
D) ad = be

50) 93 sewige anieea ax + by = ¢ wer dx + ey = f (sagoa a,b,c,d,e ve f Ga corma) 3an @ ey QAR 8, 6069

A) ae # bd
B) ad # be
C) ae = bd
D) ad = be

51) Two circles of radius 4 cm and 5 cm touch each other externally. EF is a direct common tangent to the circles. What
is the length of EF?

A) V(82) cm
B) V(80) cm
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C) V(41) cm
D) V(40) cm

51) 4 cafl e 5 cafl cuaid 838 Qad  0eeeR o2y ad QB | EF 08 ¢Rgien gois ariee ade coiean, 606e EF @ on 6066 620?

A) V(82) safi
B) V(80) saf
C) V(41) sad
D) V(40) sad

52) Which is the largest four digit number divisible by all the numbers 12,14 and 157

A) 8820
B) 8900
C) 9200
D) 9660

52) 12,14 e 15 aag owy Qo Faie 62089l a9 920 98 26938 Tay 698 ?

w0 Tachofworld.In

C) 9200
D) 9660

53) What is the difference between the simple interests received if two amounts of ¥ 3,000 and % 4,000 are invested for
2 years and 3 years respectively at a rate of interest of 10%?

A) 300
B) 400
C) 2 500
D) 2 600

53) a& T 3,000 v T 4,000 caigen 2 od ver 3 od aid 10% Qu 2106 §36010 SQIAN 6069 18Q AQES Q0 QY ARIER TITRY 6960 626 ?

A) % 300
B) 400
C) 2 500
D) 600

54) If the ratio of x:y=3:5, then the value of 8x+3y : 5x+7y is
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A) 29:39
B) 39:50
C) 49:60
D) 59:69

54) a3 zgae x:y=3:5 24, ¢06e 8x+3y : 5x+7y @ AR 629

A) 29:39
B) 39:50
C) 49:60
D) 59:69

55) Which of the following is false?

A) 0 € {0}
B) 0 c {0}
C) {0} < {0}
D) ¢ c {0}

55) Gqage auq 6a¢ favi ?

<o Techofworld.In

C) {0} = {0}
D) ¢ c {0}

56) If x2 + (1/xA2) = 6, then the value of x*4 + (1/x*4) is

A) 14
B) 16
C) 32
D) 34

56) 9@ x2 + (1/x72) = 6 g9, 6062 X4 + (1/xM)a QIR c2ad

A) 14
B) 16
C) 32
D) 34
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57) In a triangle AABC, AB =6 cm, AC = 10 cm and BC = 8 cm. If D is the midpoint of BC, then what is the length of the
median AD?

A) V13 cm

B) 2V13 cm
C)3V13cm
D) 4V13 cm

57) e geaiasa AABC, AB = 6 6ad, AC = 10 6afi ver BC = 8 6afi| @ 9@ e @ audg g9, 6062 aual AD @ 0 6060 629 7

A) V13 cad

B) 2V13 6
C) 3V13 ¢af
D) 4713 cad

58) For a class decoration, the ratio of the number of red sheets required to that of green sheets required is 4:3. If there

were 20 more red sheets and 12 less green sheets, then the ratio would have been 2:1. What is the total number of
coloured sheets available?

v Techofworld.In

C) 158
D) 200

58) 4@ 6géan ARAR OIF, BIRAIL 620l AP 3¢ afe an e @aue agae 4: 3103 20 § ade v 3¢ ve* 126 @ age 3¢ aN, 6069 agaIe 2:1
6RIQIS! | 6062 RONT QAR ALFR o 6960 ?

A) 150
B) 154
C) 158
D) 200

59) If A, B and C are finite sets, then the number of elements in exactly one of the sets A, Band C =

A) n(A)+n(B)+n(C)-2xn(ANB)-2xn(BNC)-2xn(ANC)+3xn(ANBNC)
B) n(A)+n(B)+n(C)+2xn(ANB)+2xnBNC)+2xn(ANC)-3xn(ANBNC)
C) n(A)+n(B)+n(C)+2xn(ANB)+2xn(BNC)+2xnANC)+3xn(ANBNC)
D) n(A)+n(B)+n(C)+2xn(ANB)+2xn(BNC)+2xn(ANC)-2xn(ANBNC)

59) a@ A, B wer C aifio 6a¢ 24, 6069 A, B e C 6a¢ AuQ 601660 2aIQI9 e =

A) n(A)+n(B)+n(C)-2xn(ANB)-2xn(BNC)-2xn(ANC)+3xn(ANBNC)
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B) nA)+n(B)+n(C)+2xn(ANB)+2xnBNC)+2xnANC)-3xn(ANBNC)
C) nA)+n(B)+n(C)+2xn(ANB)+2xnBNC)+2xn(ANC)+3xn(ANBNC)
D) nA)+n(B)+n(C)+2xn(ANB)+2xnBNC)+2xn(ANC)-2xn(ANBNC)

60) If x + (1/x) = 13 then the value of x*4 + (1/x"4) is

A) 28,125
B) 28,387
C) 28,779
D) 27,887

60) 9@ x + (1/x) = 13, so6e x4 + (1/xM) @ QIR 28

A) 28,125

szw T echofworld.In

D) 27,887
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) The Earth's atmosphere is divided into layers like troposphere, the stratosphere, the mesosphere and the
thermosphere based on its

A) Energy

B) Temperature

C) Pressure

D) Weight

61) w2l agea Ada @8 gaLia QIgASe g6aIdaa, YCIRAR, 66ARAN 1< 267I3TA a8 3060 §e3 caKRard
A) 93
B) eloaig!

C) glg
D) Gee

62) Which among the following options is a layer that absorbs most of the Earth's ultraviolet radiation?

vew Tachofworld.In

C) Ozone
D) Mesosphere

62) FORYe FRIYER AUQ 696G 6208 Y@ IR QIT QYRR AYAIY ACANAE1 TFREQ 2QCAITE R6R?
A) gaR

B) aigieq

C) Gea1q

D) 6neaidaq

63) Who is known as the architect of the Constitution of India?

A) Dr Rajendra Prasad

B) Dr. B. R. Ambedkar

C) VV Giri

D) Dr. S Radhakrishnan
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63) aIeea afIPe gad QIeea @1 eaigal ?

A) 99 Q6o gaR
B) d.z0.2169900
C) 8 a6

D) €99 9Q QIGeR

64) The Great Bath is a famous ancient structure found at which of the following Indus Valley sites?

A) Universal Soul
B) Dholavira

C) Mohenjodaro
D) Kalibangan

64) A2IQ ALIGIQ 6208 Q@ IR GIF1R F0R AR FYRYS A8 QAR ARIQ 696 AR AFaIa?

A) 962 916

seese | @CHOTWOTrId.IN

C) 6r1626@11Q16Q1
D) e@Qi@q

65) Itai-Itai health hazard in Japan was caused by the toxicity of?

A) Cadmium
B) Chromium
C) Zinc

D) Arsenic

65) fI0IRea QeIR-A6Ia AYINRE FaQ YRR FAINOI ANEQ CRINYRI

A) @uefan
B) saifiaq
C) o

D) zidfe

66) About 300 million years ago Earth had only one massive super continent . Select the name of this super continent
among the following options.

A) Panthalassa

B) Pangaea

C) Gondwana
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D) Laurasia

66) 919 300 AgE @F g6< GR16R 6RAR 681N §2Q ARICRA 2RI | FNAYE FeTFR AUCR 1T 92Q ATIERER AIA 0AR K6 |

A) araql
B) ai@a
C) saigaia!
D) aasadal

67) 33% seats in India are reserved for women in which of the following given options?

A) State Assemblies
B) Rajya Sabha

C) Cabinet

D) Local Self Bodies

67) fueesa NN% QIR FEQIS AUQ 6R6E6R MRANIRS A1 080 ?

v Tachofworld.In

C) udeas
D) 9719 qeroRe gl

68) In which year did the Constituent Assembly form the Drafting Committee of the Indian Constitution?

A) 29th August 1947
B) 29th August 1950
C) 30th August 1950
D) 29th August 1949

68) aieo1a aldIee TaRe AfFe GOR 6ed od QAL AN Q9 ?

A) 9¢ 298 e C¥9
B) 9¢ 294 ¢80
C) Mo 268 e ¢80
D) 9¢ 268 e 0¥

69) Which among the following refers to a Land surrounded by Ocean?

A) Arctic
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B) Antarctic
C) Neither Arctic nor Antarctic
D) Both Arctic and Antarctic

69) Gadge MuQ 6296 AR QIR 607 6210RTYR IR 624] EO KR ?
A) Uese
B) zreiede

C) 2idee Gl are1ate ged
D) @00 2Iede 1e° APeIEca

70) INA had an exclusive women regiment named

A) Razia Sultana
B) Rani of Jhansi
C) Ahilya Bai

D) Rudramma

70) zieranaea 2INQ 9@ o8 72qI 6dniee aal|

»=== Techofworld.In

C) zeail o

D) Q@

71) Vatsa was one of the powerful kingdoms of Mahajanapadas that emerged during the Vedic age. The modern location
of this kingdom in India is

A) Gaya

B) Banaras
C) Allahabad
D) Bhagalpur

71) Q4 (Vatsa) F2I9RU9Q 2AQYGF 434191 QIFY gl Q12 6500 JO6Q QYR 62IRRI| NAGER 9T QIR ARIAS QAL 620F |
A) qgi

B) aqieQ

C) 21IRQIQ

D) aienga
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72) Which of the following options is correctly matched with respect to UN conference on Climate change?

A) COP-25, Katowice
B) COP-24, Bonn

C) COP-23, Barcelona
D) COP-22, Marrakech

72) 9eQIg 06966 006 fiFe IBrae Afew ade FqRye Feeqfe MUQ 69uE A0R NIRER 671Q HINE 7

A) dod-98, QECINNQ
B) Qcd-9¥, 6ain
C) Q6d-9a, akdeainl

D) a6a-99, aiaicad

73) A writ can be issued to a State Government by the

A) Governor of the State
B) Advocate General

C) Supreme Court

D) President

73) 9@ i aeRieg 9@ cadl ILIR° QI fuInake

v o 1 €Chofworld.In

C) 989 sai¢
D) QIQ_G@

74) For each degree of longitude there will be a time difference of

A) 4 minutes
B) 5 minutes
C) 6 minutes
D) 7 minutes

74) Qi@n1e geeie Gg1 aiel ¥6@ ana aidey eE

A) ¥ ade
B) 8 Ade
C) » afe
D) © Ade
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75) In Jallianwala Bagh, many died by jumping into a well, since then the well was known as

A) Martyr's Well
B) Patriotic Well
C) Punjab Well

D) Amritsar Well

75) IRIRGIRI QIGER LELR ERIR 1@ QU 668 JO4P0d 2AdER, 6A6R0IQ QAT UEQ eqIgel 2SS |

vemee 1 €@chofworld.In
C) asie g
D) 29630 Q2
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which among the following organic product is formed when CH3COONa is treated with soda lime?

A) CH4

B) CH3sCHs
C) CH2=CH:
D) CH=CH

76) CH3COONa 6aiel aigf 986 Qi 2AI3RI6R69 RS 656 aQIe AUQ 64 98 g1 ?

A) CHs

B) CH3CHs
C) CH2=CH
D) CH=CH

77) Which among the following condition will be suitable for a real gas to behave ideally?

A) High pressure and high temperature Te C h OfWO rI d I n
B) Low pressure and low temperature e

C) High pressure and low temperature

D) Low pressure and high temperature

77) fqRge Begl AUQ 624 Gam cHIA 52 NS gERAIRR aIel QAYS 629 ?

A) 96 Qa9 99 GIAAIG)
B) {6 Q1a 96 5 IaaIg!
C) 9@ Q@ ¢ elaaigl
D) 8¢ Qa9 ae QIEIQl

78) Which of the following is a scalar quantity?

A) Velocity

B) Speed

C) Force

D) Displacement

78) FORYE AR 6RAT IQ ARG ARG 266 ?
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A) aGea

B) eea
C) e@
D) dgiae

79) Bacillus thuringiensis is widely used as:

A) Weedicide

B) Insecticide

C) Rodenticide

D) None of the above

79) @idaq gadeadq 920 AR 4RYE 24:

A) Q8@

B) €1eqIae

C) saisereiade

D) 296019 AuQ 671636 Q68

80) In which of the following plants the symmetry of the flower is radial?

vae Tachofworld.In

C) gulmohur
D) bean

80) dndge 2Begee AUQ RUTER INR ANQAG! CEAR 26E ?

A) ¥Q0l

B) Ae@

C) anenea
D) &=

81) Which of the following reactions occur in the cathode during the electrolysis of acidified water?

A) Hz + 20H — 2H0 + 2e
B) 2H20 — 02 + 2H"* + de
C) 2H20 + 2e — Haz + 20H
D) Oz + 2H* + 4e — 2H20
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81) 2QQ9 S0 GEAERININGA ANAER QUICEIRER FARYS 9ORAIRFe MIQ 6adE afan ?

A) Hz + 20H — 2H20 + 2e
B) 2H20 — O2 + 2H* + 4e
C) 2H20 + 2e — Hz + 20H-
D) Oz + 2H* + 4e — 2H20

82) Which of the following statement regarding kinetic theory of gases is TRUE?

A)  Average kinetic energy of gaseous molecules is directly proportional to external pressure

B)  Average kinetic energy of gaseous molecules is directly proportional to the absolute temperature

C) There exists some attractive forces between the molecules of the gas as collisions are inelastic between them
D)

During collisions the molecules either gain or loose energy

82) auiae ade 68 Ge06a FRYe MIQ 6R6E A6y ?

A) A GITRR RINIVIA 0O 49 VIV QA ARE GUIARY ARAIBR 6RIQAIN

B) QUIQID AGYTRR IQIRIA A6 68 Q'Q(i QIR A86 GuIRY AYAIBR 6RIQAIN

C) AIAR AGYF@ FRICR BF IR 45 QLB ARG CANRT FUER AR AReRdaq adan
D) UG ANAER UGYFR 43 1AM AQB Rl AR RS

83) Momentum is a vector quantity and it is the product of its mass and

ver Tachofworld.In

C) velocity
D) torque

83) Q°6Q6 628 @ 9G4 ABAIE ¥e° 2 Fea 9gQ 6 ----Q QYR 26T

A) qeaieds
B) qa&

C) adsaa

D) 6q @l 2194

84) The are also called filamentous bacteria.

A) Actinomycetes
B) Mycoplasma
C) Spirochaetes
D) Vibrio
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84) Q FRIsFrea L101g kI QLIAN |

A) ZIRERINNEAY
B) A6
C) eisesq

D) @<

85) Which of the following is NOT a main component of endomembrane system?

A) Plasma membrane

B) Nuclear envelope

C) Endoplasmic reticulum
D) Mitochondria

85) @9dge aug 6R4f 6aI6AAe dANa 1@ g QAIRIR Q6¢ ?

A) L&A 67637

e 1 @Chofworld.In

C) waIgeie cadqen
D) flassieda

86) The roots of plants grow vertically upwards from the soil for the absorption of oxygen from the atmosphere these
type of roots are called

A) Runners

B) Prop roots

C) Pneumatophores
D) Pulvinus

86) afeqfea 0a QGAERQ ANRIR ALEAINE AIE AITQ QAN NINER AORQ TN | T gRIeR 60aQ 191 gRIAN
A) eed

B) 9a.@sa

C) YAIecIeTIQ

D) ga@aq

87) What will be the ease of liquefaction of the gases with given van der Waal's constant 'a' values? Given 'a’ in (L2 atm
mol2): anz2 = 0.0244, ane = 0.0345, ao2 = 1.378 and achs = 2.283.

A) CH4 > O2 > He > H2
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B) Hz > He >> O2 > CHa
C)CHs> 02> He < H2
D) CH4 < O2 > He > H2

87) duiggel auIR 604 @9 & |AIEe ‘A’ AR ade auae eee adlda aeeel @'d 62e? (L2 atm mol?) ca ‘a’ duaed : aHz = 0.0244, ave =
0.0345, ao2 = 1.378 qe* acHa= 2.283

A) CHs4 > O2 > He > H2
B) Hz > He >> 02> CHa
C)CHs>02>He <H2
D) CH4 < O2 > He > H2

88) Which of the following things force CANNOT do on a body?

A) It can change the speed of a body

B) It can change the direction of motion of a body
C) It can change the mass of the body

D) It can change the shape of the body

88) FARYS FRIQ 67 AR 9 VAR I 1T ?

A) 9@l Qg0 6Q91g AR AR TeChOfWO rld . I n

B) 12l 1@ @ge 699 Gagq QeRIR 9Re
C) 92l 9ga 9geq RIR AR
D) w2l 9gQ 2IRIeY F9RIR AIG

89) The interbreeding of individuals or stocks that are relatively unrelated called as

A) Consanguinity
B) Inbreeding

C) Exbreeding

D) Out-crossing

89) PFTcaa A9 99 @ IEIQ G AIRIF ACAVQE AT Q6T QIR QeI

A) aRe

B) 2e0e gaae
C) 9ee

D) @8 aeae
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90) The flattened sac-like elements of Endoplasmic reticulum are

A) plasmasol
B) vesicles
C) cisternae
D) tubules

90) weaIQeIfie c0FeRn @ 69a%I 2 98 QAPPSR 6208

A) QR

2w | @chofworld.In

C) daql
D) ciewq
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1| C 31| D 61 | B
2A 32|D 62| C
3|B 33/A 63 | B
4D 34D 64 | C
5/A 35/B 65| A
6| A 36| C 66 | B
71A 37|D 67 | A
8| A 38| B 68 | A
9B 39D 69 | B
10| D 40 | B 70 | B
i1 | € 41 | C 1) |16
12 | A 42 | D 72 | D
13D 43 | D 73| A
14| B 44 | D 74 | A
15| A 45 | B 75 | A
16 | A 46 | B 76 | A
17 | B 47 | A 71 | B
18| A 48 | C 78 | B
19D 49 | B 79 | B
20| A 50| A 80 | A
21 [C 51| B 81|C
22 [iC 52|D 82| B
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